
Parts List

DESCRIPTIONPART NUMBERQTYITEM

PANEL, TOP5512153215

6-32 FLHD SCREW632D85121

6-32 CLINCH NUT -3 SIZEMCLS-632-382

RECESSED CARRY HANDLE11348-0123

RAIL, TOP/BOTTOM5510607216

10-32 CLINCH NUT -2 SIZEMCLS-032-285

10-32 BTNHD SCREW1032F#586

PANEL,DOOR, SCOUT 21, LH551790919

PANEL, LEFT/RIGHT5515250110

6-32 SCHD SCREW632D451211

6-32 CLINCH NUT -2 SIZEMCLS-632-2412

HINGEME61042050213

HINGEME61042050_OUTER217

CLINCH NUT, FLOATINGMAC-832-2617

CAPTIVE HARDWARE5211002618

PANEL,SIDE,SCOUT 21, LH5517911119

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

A A

B B

C C

D D

NOTES:

 

1. BAG AND TAG 632D45 (12)

SHEET 1  OF 2 

DRAWN BY

ENGINEERING

OPERATIONS

MANUFACTURING

ASSEMBLY

-

DBCooper
20/08/2018

DWG NO

565575-CU

TITLE

21 SLOT SCOUT XT, ENCL 6" DP, LH

SIZE

D

SCALE

MAC PANEL COMPANY - HIGH POINT, NC

A

SHEET METAL

 

ANGLES  1
 

.XX        .03

.XXX      .010

MACHINED

 

ANGLES  1
 

.XX         .01

.XXX       .005

.XXXX     .0005

TOLERANCES (UNLESS OTHERWISE SPECIFIED)

REMOVE ALL BURRS AND BREAK SHARP EDGES.

Third Angle

Projection

MATERIAL USED

1/1

SPN:

SIMILAR P/N

QTY

PART NUMBER

BALLOON LEGEND

-



Parts List

DESCRIPTIONPART NUMBERQTYITEM

PANEL, TOP5512153215

6-32 FLHD SCREW632D85121

6-32 CLINCH NUT -3 SIZEMCLS-632-382

RECESSED CARRY HANDLE11348-0123

RAIL, TOP/BOTTOM5510607216

10-32 CLINCH NUT -2 SIZEMCLS-032-285

10-32 BTNHD SCREW1032F#586

PANEL,DOOR, SCOUT 21, 

LH

551790919

PANEL, LEFT/RIGHT5515250110

6-32 SCHD SCREW632D451211

6-32 CLINCH NUT -2 SIZEMCLS-632-2412

HINGEME61042050213

HINGEME61042050_OUTER217

CLINCH NUT, FLOATINGMAC-832-2617

CAPTIVE HARDWARE5211002618

PANEL,SIDE,SCOUT 21, LH5517911119

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

A A

B B

C C

D D

NOTES:

 

1. BAG AND TAG 632D45 (12)

SHEET 2  OF 2 

DRAWN BY

ENGINEERING

OPERATIONS

MANUFACTURING

ASSEMBLY

-

DBCooper
20/08/2018

DWG NO

565575-CU

TITLE

21 SLOT SCOUT XT, ENCL 6" DP, LH

SIZE

D

SCALE

MAC PANEL COMPANY - HIGH POINT, NC

A

SHEET METAL

 

ANGLES  1
 

.XX        .03

.XXX      .010

MACHINED

 

ANGLES  1
 

.XX         .01

.XXX       .005

.XXXX     .0005

TOLERANCES (UNLESS OTHERWISE SPECIFIED)

REMOVE ALL BURRS AND BREAK SHARP EDGES.

Third Angle

Projection

MATERIAL USED

1/1

SPN:

SIMILAR P/N

QTY

PART NUMBER

BALLOON LEGEND

-

1
5
2
.
4
1
 
[
6
.
0
0
0
 
i
n
]

446.44 [17.576 in]

2
7
3
.
8
1
 
[
1
0
.
7
8
0
 
i
n
]

152.41 [6.000 in]

194.31 [7.650 in] 194.31 [7.650 in] 23.24 [0.915 in]23.24 [0.915 in]

1
0
7
.
9
5
 
[
4
.
2
5
0
 
i
n
]

1
0
7
.
9
5
 
[
4
.
2
5
0
 
i
n
]

2
3
.
5
0
 
[
0
.
9
2
5
 
i
n
]

2
3
.
5
0
 
[
0
.
9
2
5
 
i
n
]

435.10 [17.130 in]

2
6
2
.
8
9
 
[
1
0
.
3
5
0
 
i
n
]

4
4
.
6
9
 
[
1
.
7
5
9
 
i
n
]

4
4
.
6
9
 
[
1
.
7
5
9
 
i
n
]


